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BEFORE

daily growth rate = 0.07 [0.05;0.09]
doubling time (days) = 9.93 [7.53;14.58]

AFTER

daily growth rate = −0.06 [−0.09;−0.03]
halving time (days) = 11.96 [8.04;23.27]
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BEFORE

daily growth rate = 0.03 [0.02;0.05]
doubling time (days) = 20.28 [13.91;37.39]

AFTER

daily growth rate = −0.08 [−0.12;−0.03]
halving time (days) = 9.17 [5.87;20.99]
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BEFORE

daily growth rate = 0.04 [0.03;0.05]
doubling time (days) = 18.47 [14.5;25.45]

AFTER

daily growth rate = −0.08 [−0.14;−0.03]
halving time (days) = 8.43 [5.02;26.32]


